Tie Breaker:

Win, Head-to-Head, PA, PD

Wins — Number of wins
Head-to-Head — Head-to-Head Result
Points Against — Points Allowed

Points Differential — Points Scored versus Points Differential Allowed.
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Current Tie Breaker Format:
THROWBALL TIEBREAKER

1. Teams will be ranked based on Overall Winning Percentage (OWP)
a. Calculation: Total Preliminary Matches Won / Total Preliminary Round Matches Played
2. If multiple teams are tied with the same OWP then:
a. If 2 teams are tied:
e Head-to-Head winner from Preliminary Round will get the higher seed
e If the 2 teams did not face each other in the Preliminary Round, then this
tiebreaker does not apply and move next tiebreaker
b. If 3 or more teams are tied:
e If any team doesn’t have a Head-to-Head win, then they are the first team
eliminated in the tiebreaker and they finish last among them.
e If the teams have one Head-to-Head win, then it goes to PA to decide the
order between them.

3. If teams are still tied, then the team with higher average points differential will get the higher
seed. The max points that will be used for the purposes of this calculation will be 27 or 25 (for
sets 1 and 2) and 17 or 15 (for set 3).

a. Calculation: (Total Points Differential)/(Total Preliminary Sets Played)
Team A versus Team B (25-15, 25-10),
Team C versus Team D (25-10, 20-25, 15-5)
Team A and C are both 1-0, however Team A has an average points differential
of 12.50 and Team C has an average points differential of 6.67
Team A (Points Differential 10+15= 25 divided by sets played 2. 25/2 = 12.50)
Team C (Points Differential 15-5+10= 20 divided by sets played 3. 20/3 = 6.67)

Using the referenced standings, we have 4 teams that are 7-1 and 4 teams that are 4-4. The below
explanation is used to identify the rankings for these teams.

For the 7-1 teams, three of them have one H2H win:

Avengers, Herricanes, and Soul

It then goes to PA to decide between them, in which the order would be Avengers with 256,
Herricanes with 336, Soul with 341.

The Gladiators don't have a H2H win so they are the first eliminated in the tiebreaker and finish
last among them.

For the 4-4 teams, three of them have one H2H win:

Smashers, Champs, Tigresses

It then goes to PA to decide between them, in which the order would be Smashers with 349,
Champs with 355, Tigresses with 364.

The Firebirds don't have any H2H wins so they are the first eliminated in the tiebreaker and
finish last among them.



